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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@My : GCoemauwmer @L &l UL LD euenhgl FOTUTHEENET 6T(LHGIE.

Note : Draw diagrams and write equations wherever necessary.

U@ - 1/PART -1
@Ol : () Slemensg eflamsaEns@n elenwallssayb. 30x1=30
(i) Oar@sslulL preng oloseid Wseyb siwrer dloLemws
CoibEs0ss GEHUILEL6 el wlaman b Csisg) erps)s.
Note : (i) Answer all the questions. |

(i) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer,
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1. lgFelLen Gﬁlgﬂéa@t'_uf_(l) Gawdu@D G Bifob :

(1) Hy (<) HO (8) CH,COOH () CCly
The liquid that obey Troutons rule is :
(a) Hy (b) H,0 () CH,COOH  (d) CCl,

2.  aly CarammsEEsEL ULETLHD SabLow :

(1) Sirglymed (<) wéaffu e
(@) apw Cara( () Sapid pemigioarfl
The emulsion used for stomach disorder is :

(a) argyrol (b) milk of magnesia
(c) colloidal gold (d) colloidal antimony

e

3. L argdled mam Qeuou@L edg :

(=) gmnd siend (=) ol sy

(@) p®flea Gamob (/) QpmemavL Sjfleid
Diethyl ether acts as :

(@) Lewis acid : (b) Lewis base

(c) Neutral compound (d) Bronsted acid

4,  EOLIMED GTemg)
() 2-emanl_yréedl L amme
(<) 3-enanl_Fréedl [, L arre
(@) 3-aanlyréal 1L GLCared
(/) 2-emamlyréad G CLGameb
Aldol is :
(a) 2-hydroxy butanol
(b) 3-hydroxy butanol
(c) 3-hydroxy butanal
(d) 2-hydroxy butanal
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QuriLrdlud <Crr swaean() <enaTeyF Cerwgdlaldmpbs GararenL
aSpLgeurs@h o Gorsi :

(@) Cr () Ag @) Pt () zn
The metal which precipitates gold from the potassium aurocyanide complex is :
(@ Cr (b) Ag () Pt (d 2Zn

Srevlowihm STirLenens Qararrigrrg OGaT Sifleid :
(=1) Senerdlen (<=1) Sievafler (@) yGrmedler (FF) ensCrrélen

The amino acid without chiral carbon is :
(a) Glysine (b) Alanine (c) Proline (d) Thyrosine

osuignflafler walursen eybnow sriugiLer @UIALLTd, cliepher :
(1) @ifls qwealunssd @ bned Qsrar@erens

() Gophs SwalursEEh @ bnd Qsrar@drers

(8) <05 werey welursgEb < hnd Qaran@erars

() Qeupmled ergiadlcency

Comparing the ionisation energy of fluorine with carbon, fluorine has :

(a) higher ionisation energy

(b) lower ionisation energy

(c) same ionisation energy

(d) none of these

@i Yosanree salgCamnd Asuyb Curg HeLseb <oy mantd,
2BOSADTEI) 2 GTangIGLImeD STTLeT SAgnibaafian aramanildams o drarg) eraflo,
SHS ,OSADTE :

(=1) 1° Yy hsanmed (=4) 2° pesanme

(8) 3 asanmd () eagiflome

On oxidation of an alcohol gives an aldehyde having the same number of carbon atoms
as that of alcohol. The alcohol is :

(@) 1°alcohol (b) 2° alcohol
(c) 3° alcohol (d) None

[ S@Liys / Turn over
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10.

11.

12.

13.

1

gpear LHMIL OO Friy Hasselgd srariubD QeuaimuL gl
2 GTemeney :

(<=1) QofHarsdr () Q& sLmadlenssar
(@) sresCLr 9@ aser () odGemm IO EIGET
is present in the white matter of the brain and of all nervous tissue.
(a) Lecithins (b) Cephalins
() Galactolipids (d) Amino acids

crem@amier serudmqL Frusms UTOLSE L@ sO&EGLEUTS 2AbS
urewd Hpwonsrs @mwldearn, ks LT

(1) 0/W (=) W/0 (@) 0/0 () W/W
Oil soluble dye is mixed with emulsion and emulsion remains colourless then, the
emulsion is :

(@) O/W (b) W/O . () ©/0 @ WwW/w

sfflusssserenn Qs erhsman( :

(=1) &fwid () yCrmAS wid
(@) sCLmeliaflwib () eyiedlwib
The Lanthanide which is radioactive is :

(a) Cerium (b) Promethium
() Gadalonium (d) Lutetium

aNenanGeussd swemur g o arer Qedleysaflar R&@GseTear smBHeD :
(<=1) ap@ésay) eremr (<) ellevareuens |
(@) eleoanGeusid (/) eflenanGeus mmbled]

The sum of the powers of the concentration terms that occur in the rate equation is
called : _

(a) molecularity (b) order

(c) rate (d) rate constant

arflinflen Siemana| Sweflullsvsor Caod erg) ?
(=1) [Cu(NHy),ICL, (<) Ky[Fe(CN)gl (&) K;[Fe(CN)g] () [NiCL 2~

Which is not an anionic complex ?
(@) [Cu(NHj),ICl, () KyFe(CN)] () Ky[Fe(CN)g]  (d) [NiClJ*~
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15.

16.

17.
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el fisss i Waraumd ahs semrsasE QUIGHSE FalgLg) ?

(1) CH;COOH (<) NaCl (@) NaOH (FF) H,S04
Ostwald’s dilution law is applicable in the case of the solution of :
(a) CH3COOH (b) NaCl (¢) NaOH (d) H,S0,

Gop 2 Canss GODUTLIgHESTEr ST :

(<=1) NaCl (<) AgCl (@) CsCl () FeS
An example of metal deficiency defect : :
(a) NaCl (b) AgCl (@ CsCl (d) FeS

erivapenpuie GLME GCarmer® elemearCas wrpPlurs QFuduBSpg ?

(1) Gapufr ¢pep (=) Gumdy e

(8) wemar gpeop () gheveurdl. e
In which process, Cupric Chloride acts as’a catalyst ?

(a) Haber’s process (b) Bosch’s process

(c) Deacon’s process (d) Ostwald’s process .

yrouemds ofeosms Gsmgud ou sriuCail Birssorsdd
Mavau@sgnd Gurgy CO, Gasflaum@mdmg. CO, -dler sTrUmens
QaramymEGL CsTEs

(=1) Bgapd CsrEs

(<) smiur&Eflds ble GsrEs

(&) Gosdder AsrE

(/) edusTruCar

When propanoic acid is treated with aqueous sodium-bicarbonate, CO, is liberated.
The “C” of CO, comes from :

‘(@) methyl group

(b) carboxylic acid
() methylene group
(d) bicarbonate

[ apuys / Turn over
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18.

19.

6

) a2 ey sl (@) atm™ (7)) (atm)?
The unit of K, for the reaction :
2NHyg) = Nogg) + 3Hyp)

i (@) (atm)?

(a) (atm)~2 (b) atm () atm

SpsTaTUETOUDNIET 6Tg eTeflw FSIT ?

(1) CH3—0—CyH; (<2) CH5—O—CHs

(8) CH;~0-CH; (%) CyH,~O—CyHs
- Which one of the following is simple ether ?‘

(@ CH3—O—-C,Hj () C,H;—O-CHj,

(c) C,H;—0O-C,Hs (d) CzH,—0O-CyH;

20.

21.

@Bl Crr B5Csen, Sl LrogoanBLea Gnss dmanie FOULOS
Qar@uug) :

(1) eoplGrr yruGuenr (<=1) 1-ewam L Grm-2-rliLeTTed

(@) Z-W‘BLGUn-l?qguumneb () 3-enplCrmr yrliuenmed

Nitromethane condenses with acetaldehyde to give :

(a) nitro propane (b) 1-nitro-2-propanol

()  2-nitro-1-propanol (d) 3-nitro propanol

A 2 Lsmaas sréd 1P e Lag wopid flulrreers gmi BT
SIGET :
(1) - gisar () gwryrar (@) YCIMlLmen (7)) Byl rrer

Which one of the following particles is used to bombard 13A17 to give 15P°0 and a
neutron ?

(a) o - parﬁcle (b) deutron (C) proton (d) neutron
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23.

24,

25,

26.
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]

@Gerreuir @aned iemoliyLen X Hm Y &8l ienohgierer g, mallme
(cg{) dxy (%) ‘:Ila;:z---y2 (@) d22 (lT) dyz
The clover shaped orbital with its leaves are directed along the X and Y axis is :
@ dy ®) da_p (@ 9z @ d,
Geromser aamgs Qarargm&@h Qurpgl fimaperer  2jweflsener
o (Heur&@H e
(=1) QrienL eresl_rrengar (1) saflss erasLmetsear
(@) sallss Cumg ravsyrenser (/) Qeundled ergieyblovame
Formation of coloured ions is possible when compounds contains :
(@) paired electrons (b) unpaired electrons
(c) lone pairs of electrons (d) none of the above
g-19rr&Gar Fwarur() :
mv hv h
(1) ¥="%" (<2) N=hmv (@) = () A=
de-Broglie equation is :
mv hv ) h
@ r=% (®) A=hmv @ hee e k=
(n—2)f g MAlLr@salledd mBsed TS _FTATHEET HIMPU|D SiloBISET
eren lapdsliLBElamen.
(1) s Qs saflvbiser (=) p Qar@d saflwrisar
(8) d QarEd seaflwhige (rr) f QsTEsd saflomsdr
The elements in which the extra electron enter (n—2)f orbitals are called :
(@) s-block elements (b) p-block elements
(c) d-block elements (d) f-block elements
aTgl —1 g saflmGammm Blensouded L [HID 2 emerg ?
(1) oLicamleim (<=1) yGrmden
(@) @Cermiflen () AGwimige
Which shows only —1 Oxidation state ?
(a) fluorine (b) bromine
(c) chlorine (d) iodine

[ Simlins / Turn over
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27,

28.

29.

30.

8
siafldder, Quersrud e '-@GWHWU@LW peraflmeuile e ey fbg
Gucngaflena(®) erann Gainsmss smang. @eueimen :
(<=1) &r_Litorer eQenes (<) sram Gowi aflener
(@) evariLan@Querer eflaer () &mbQUITE ellapar
When Aniline treated with benzoyl chloride it forms benzanilide. The reaction is :

(a) Gattermann reaction (b) Sandmeyer reaction

(c) Schotten - Baumann reaction ~ (d) Gomberg reaction

2Cly) — Cly,, clleveuied> AH wppid AS pAuLseafdn @hlser papGu :

(21) +, - (@) +. + @ - - () =
For the reaction 2Cl,) — Cly,, the signs of AH and AS respectively are :
(@) A,-— b) +,+ -, - (d) o +

Spasd sumamL Brrpugseh Curg UaraaaraipmIET gl (P
Liguileh 2 @rLm@ ?
(<st) RNH, (<) RCONH, (@) RCN () RCOOH

During the hydrolysis of alkyl cyanide which among the following is formed in the first
step ?
(a) RNH, (b)) RCONH, (¢ RCN (d RCOOH

@ daanden paGarss, YenGeanmé elemanGous wrilalser wpanGu
8x10~5 wpmid 2x10~* erefléd, K. -6 willu :

(1) 0.04 (<) 0.02 (@) 0.2 (F) 0.4

The rate constant of the forward and reverse reaction are 8 x10~° and 2x10~4
respectively. K is:
(@) 0.04 -+ (b 0.02 (© 0.2 d) 04
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u@$! - 11/ PART - II
®ULY : gGseb uflemeanhg elamisense elmwaféEaaib. 15x3=45
Note : Answer any fifteen questions.
31.  He, gar 2 meurseildana ?
Why He, is not formed ?

32. Be, Mg wpmib N gflwees gpisny LH@lW ersLITer BriLgmsL
QuibmieTaTe. ere ?
The electron affinity of Be, Mg and N are almost zero. Why ?

33. QembGur seruuTen geanano LHH GHILIY eTLpSIs.
Plumbo solvency - write a note.

34. HF -g@ seawrewimg UM g dseafle) gren LTGISTES (PlgWrs ?
Why HF is not stored in glass bottles ? ~

35. @ Qurmefler srhss HmuLsmper 3.9 BM erafler, 28 rssman Faflss
rsLirrenEemnend Gl&TarTiq(HEHEGL erarLamss: sanrdsd(His.

A substance is found to have a magnetic moment of 3.9 BM. Calculate how many
unpaired electrons does it contain ?

36. @Crmb pamb Yssame adleul.
Write a note on chrome plating.

37. noAul® o " smellar SenreumpamaLd 150 B ser erafle Bigen srmef aumpsmab
SerL_hl&.

Calculate the average life of ;oAu!® leaving t3, =150 days.

38. <=8 e sLGHHET erempmed ereman ?
What are Superconductors ?

39. g Caufdlamanuiear saalléms Qswaipmpsstar flubsmasmens sys.
Mention the essential condition for spontaneity in a chemical reaction.

A [ #wliys / Turn over
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40.

41.

42,

43,

44,

45.

46.

47.

48.

10

Gesreu(mLd cllenena(ené s, An, wéllius sansél(He.
) Nag)+Oy) = 2NO,

Calculate An(g) for the following reactions.

0) Ny +Oyp) = 2NO,

(1) PClyg) +Clyg) = PClyyy

Nenarr cuanasudl e Ao Lsar pparm &Hs.

Give any three characteristics of order of a reaction.

Qevent elleparser GTaTDTE GrETQT ? 6 TG H(HSE.

What are parallel reactions ? Give one example.

lgerLmed eflenareflene er(pgis.
Write Tyndall effect.

sengesailer pH -& euenwim.
Define pH of solution.

g ety SieLoli, flev Sewlismu L Heoawurarsns @msdns. g ?
Trans-isomer is more stable than cis-isomer. Why ?

Hevarsarellempg CLfedar erauaumy swurfssliu@nsg ?
How Terylene is prepared from Glycol ?

Ay Bafdmpg Hema eraieumm QuplLBSDS ?
How Phenol is obtained from Cumene ?

groflub <A GLL oL 2 ef &MUES eugdsTed crean @5@33 5
What happens when Calcium acetate is dry distilled ?
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49. fsvTells Siflwser epany LweTEaMGT GT(HSIS.
Write any three uses of Oxalic acid.

CHaNO, —20/HQ , o ______CHG, ,p _Ha/Pt |
50. 3 2 SO SSGU‘[_T)g T B C.

A, B wppib C g flw Caiohismens semls.

Sn/HCl _ CHCl, o Hy/Pt .
CH;NO, > A % TorZ B B > C.
Find the compounds A, B and C.

51. mewramuii erélflger erempred eramen ? g FTED S(HS.

What are antibiotics ? Give an example.

u@S - Il / PART - 111
Gy : gaaurs 9feddnbsib Goppsueb B samssmar CoiEAs058
Casab a(p damssEnrsd claLweissa,ib. 7x5=35

Note : Answer any seven questions choosing atleast two questions from each section.

19fley - & / SECTION - A
52. en@pL e Qepenidler cuanassaer THSSSET_HLe ellaTéEs.

Explain the types of hydrogen bond with example.

53. &eéveuim ereueummi ar‘rgehmt_ﬁ.qmﬂ@;b@ 9AEOsREs ILEEDG ?

How silver is extracted from Argentite ?

54. erpsemen() @g&asg,ﬁm eNlenerey eT WTene ?

What are the consequences of Lanthanide contraction ?

55. §&& FTEMMIS(EHL-el aant-GrL rHBHLD WwHHID @eeurliy WwTHHILBSDET
NeTEHEGS.
Explain Hydrate isomerism and Linkage isomerism with examples.

[ HLiys / Turn over
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56.

57.

58.

8%

60.

61.

62,

63.

12

\Sifley - sy, / SECTION - B
Qautiu Quisseiliud Grermmbd e9fufer LOCouy FmpmismeT 6T(HSIS-
State the various statements of Second Law of Thermodynamics.

@ srldwr Qsrearenseaniul vwearupss Qsr® weopula <ifls Sierey SO,
QupiesHES Cameuunear HUbsmasmaT 6T(1HSs.

Using Le Chatelier’s principle give the conditions necessary for the formation of SO3 by
contact process.

@R PSR s ollenamudledr 9% aflenanr whm QupeugpaTear Crrwrarg 0%
eileen ot QumeusHaTar Crrsms Gured EGmwLTkiE erear Hlapdl.

Show that for a first order reaction time required for 99% completion is twice the time
required for 90% completion of the reactiop,

et WensaedaTar Gpbiemevl FweLm L aimed.

Derive Nernst equation for a reversible cell.

ey - & / SECTION - C

L asfo mah, GCarrfigiLdar Glu el wHmbd Qmald Hapsg b
elenansemar eT(DGIS.

Write equations for the reaction of diethyl ether with chlorine in sunlight, dark.

S AILLedig enamiq HGL, AuensmdigamanyHEw Qe Cw e drer Coumuir®aer
wreneu ?

Distinguish between acetaldehyde and benzaldehyde.

Caral) elenanier aflenar cuflipenmenil GT (PG!S,
Write the mechanism of Kolbe's reaction.

LWES WHBSSE UHH GSHILY euenrs.
Write a note on Anaesthetics.
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@S - IV / PART -1V

@O0y : (1) Clomgsin EeE cflanmésensE e Weflésayib. 4x10=40

Note : (i)

64.

65.

66.

(i) efNerr erewr 70 -&@ sLLnuwrs oo wafésiuced Gauarhb.
Bswerer  efarsseila gCseamib eparnl ATEsEES
eflen_wiefssayib.

Answer four questions in all.

(i) Question number 70 is compulsory and answer any three from the remaining
questions.

(=) TosLyTar s gatew wbHLmLE QsTETH AMESEGEES
@ Cuuerer gpeana) sslGmariiGen s5eis 2jwaildsamanenul
ereueUmm GeBrHleumi ?

(<) AflaCarensoflen LwcTsmeT ET(SIS.

(a) How electronegativity values help to find percentage of ionic character in a polar
covalent bond.

(b) Write the uses of Silicones.

Qenarmern KenerriiLy Qerarenaulan ppob Geraumb Caiwmisafer
@) edseLIL HDID SMHSLI LIeRTL{SEnar efeTsG5.

(i) [FeFgl*~ (i) [Fe(CN)J*~

(=) Gflwafled Hlapb 250 SAenansemerts upd GO eT(PSIE.

(a) Mention the type of hybridisation and magnetic property of the following
complexes using VB theory.

@ [FeFt™ (@) [Fe(CN)g]*~
actions taking place in Sun.

(1)

(b) Write note on the nuclear re

wrafl apeppet ellaTEES.

(1) Qrréder D iy N
(<) g pd@fioy wpem ApaLD . DIDMEISET ereucurm gniewiuBssy-
u@Hemmert ?

(a) Explain Bragg's spectrometer method.
(b) How colloids are purified by Dialy:_ns.

[ Hmuus / Turn over
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67. (=) 9Cs@b @@ wfa - =7y Spiem’ wlar Qaubun e FEVATDL

69.

Qsrdrens Qsrar® Qe é:' ’
() Cafius Basasds eantifos Sad.

3 ; > T ic of Ostwald’s
() Explain the function of any one add-base indicator on the basis of Ostwz
theory.

(b) Discuss the construction of Daniel cell.

(=) Lrimfia SB58e 2 aramiss =0 Q=iizd, upmEs &6 Galze
Searszs.
() S&aipd wmpissr adaumm §5g5¢.ﬂas ?
) <fxE sfan - F5Cza
@ Queemis =y @anb =  Qu&is
(i) oréEns eyfabd S oo ®

(@ Explain the internal compensation, external compensation in Tartaric aagd.
(b)) How are the following conversions effected ?

(i) Acetic add —  ethane

(i) Benzoic acid —  benzene

(i) Lactic add —  Lactide

(=) Cauflue srdllew@ Asreliy wan Linkd =85 carlar Seoen
Ssduamap dasgs.

() s18Carr sflesdar QE was Swal vign sodayasi ush
sTREs.
(a) Explain Gabriel’s phthalimide synthesis and mustard oil reaction.

(b) Write about Zwitter ion and isoelectric point of amine add.
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CyHg epadsam aumitiun@® Qarerr. Gaio (A) QULGrralwsSlalmbs
SevL_Liug, Qgenan @CermfayLem 773 K Qeauliuflevaudier eflepariiu®ss
CaHsCl eumbiciun® Qe (B) -eowd smAG). @@eman Na,CO; -wjLer
773 K/12 atm - efevaniu@®ss C3HO aumiium( Qsram_ (C) -euwd
s®ADg. C -@w HOCI o Lér dloariu@sd, e NaOH Qeran(®
Brrbugss CyHO, aumitium® Q&rami (D) - smélmg. A, B, C
OO D -eow srers. eflenansaner eflaTéEea.

(=) (A) erénp saflon OsrEd eram 11 wHpb eufles eram 4 -c 261aT @O

(@)

(©

(d)

Gebupiy Hp o Gorstd (A) srhbler apanaflapaousicy Birdg HyS0, 2. Lar
ewenyfpg Caiwob (B) -85 smApg. <L @plilé 9 BlsgIL_ar
(A) eemaryfifpg NO, aurjeneu Qauafluid @ Geiwbd (C) -85 SHEDG!.
A, B upmib C opflucupenns sar_fibg elamasamer allaré@s.

S|6060g)|
C,H,0CI erémp eumium@arer &ifling Geirotd (A) -gg Pd opmitd BaSO, 2 L ar
eariu@ss C,H,O ereamn po&smn euriur@erar Gerwb (B)
o @mLrdpg). (B) 2ACurGLm LD elmanése 2L LuGEpg. Gaiwb (B),
Sl HS0, elLé& uUoUgurssd eloasElull e
SiewliyeLw Gsiwb (C) -ows sGAng. A, B bpmbd C pdw
Gaohsmend sarhibg almearsamer allens@s.
0.2 i WarGarmLgeng 50 HlOlLhisar Qoqiggib Gurg 0.1978 &l
sriui efbugerdpg. sriufler Wer Ceudlsswrear Hleapemw sewsdlHs.
Compound (A) with molecular formula C,Hy is obtained from petroleum. When
(A) is treated with chlorine at 773 K Compound (B) of molecular formula C;HCl
is obtained. When (B) is treated with Na,CO; solution at 773 K/12 atm. it gives
the Compound (C) with molecular formula C;H,O. (C) on treatment with HOCl
followed by hydrolysis with NaOH gives (D) having molecular formula C;HgO,.
Find A, B, C and D. Explain the reaction.
An element (A) belongs to group number 11 and period number 4 is reddish
brown in colour. (A) reacts with dil. H,SO, in the presence of air to gives
Compound (B). On treatment with concentrated nitric acid (A) gives Compound
(C) with the liberation of NO, gas. Identify A, B and C. Explain the reactions.

OR

An Organic Compound (A) with molecular formula C,H,OCI on treatment with
Pd and BaSO, gives (B) with molecular formula C,H,O which answers iodoform
test . (B) when treated with Conc.H,50, undergoes polymerisation to give (C), a
cyclic compound. Identify A, B and C. Explain the reactions.

0.1978 g of copper is deposited by a current of 0.2 ampere in 50 minutes. Calculate
the electrochemical equivalent of copper.

-000-
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